
Day 3:5.2 - Graphs of Reciprocal Functions
EX 1- Graph ofy = sinx& y = cscx

a. Fil in the table of values jelow.
sin 0 . n . 

sm —
4

. It sin —
2

. 3,t 
sin —

4
sin K . 5n 

sm—
4

. 3 it 
sm—

2
. In 

sm —
4

sin 2/T

0
V2

2
l

V2

2
0

_J2
2

-l
2

0

cscO TV
CSC —

4
K

CSC —
2

3,t
CSC —

4

esc n 5 n
CSC - -

4

3/7'
CSC —

2
In

CSC —
4

esc In

\(K

(Ml 1 h)
(F

-hi -) -vw

c. State the key properties for y = CSCX (in radians).
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EX 2- Graph of7 = COSX & y - secx

a. Fill in the table of values below.

cos 0 n
cos —

4
cos

2
3 n 

cos —
4

COS 7l 5n 
cos - 

4
in 

cos —
2

In 
cos —

4
cos 2/t

1
V2

0
_V2

-1
>/? 0

V2
l

2 2 2 2
sec 0 TC TX in sec /r 5/r in In sec 2tt

sec — sec — sec — sec — sec sec- ■
4 2 4 4 2 4

1 \Ml
1 -1 , !• H /

1*1
I
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EX 3- Graph of y = tan x & y = cot x

a. Fill in the table of values below.
tan 0 , k 

tan —
4

n
tan 2

3k 
tan —

.. 4

tan n 5 n 
tan —

4
3k 

tan —
2

Ik 
tan —

4
tan 2/T

0 l l
0

undefined

-l 0 l l
0

undefined

-l 0

col 0 K
cot —

4
n

cot —
2

3k 
cot —

*1
col K 5k 

col —
4

. 3't cot —
2

Ik 
cot —

4
cot 2 ?r

UU^

I 0 -l
ui\ik

$ I 0 -1
aid/

t/fr

c. State the key properties for y = cot x (in radians).
Amplitude Period x-inlereepts
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EX 4 - Explain

S<?c .J- 
2

the difference between sec— and cos
2

i&Ler# Cos'1
c'jS

(■J-
2_

nhea/is ^05 lax- C/yt/e^c ■4 d

EX 5 - When the Sun is directly overhead, its rays pass through the atmosphere as shown in the picture. Call this 1 
unit of atmosphere. When the Sun is not overhead, but is inclined at an angle of x to the surface of Earth, its rays 
pass through more air before they reach sea level. Call this y units of atmosphere. The value of y affects the 
temperature at the surface of Earth.

a) Use the diagram to determine an expression for y in terms of 
angle x.

rr
S- I

S\r\x~

— CSC

b) Graph y = f(x) on the interval

c) Describe what happens to the value ofy as x approaches 0. Why does this make sense?

via to $eri$c.
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